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Abstract

To find one side of the square equal to the area of a circle is an unsolved problem.
Likewise, to think one side of the cube equal to the volume of a sphere is another
unsolved problem. There are four methods to find the area of the circle and the
volume of the sphere.

This paper aims to weigh each method against the other in finding the answers of

the problems in the Chosun Dynasty and investigate their own characters.
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S NLEE P RAESEAERZRFERAV R G EEHRILGESRARITHEAR DR
HEEARESESRL S E - RPAEEE - TR+ ZH&%5 TOUL— p. 644)

%E REHAAR, AFHE—+R, CRAGEMER, AEHE_R, AFHER— AR,
PF i — - R, SEFEAR, vHESTR, £ toR, YEAZER, FEE—
FAR, #&IEE AR, FEREMNTHR

C MRV, BW o, BRRHE; Vy, B b, AW Vi, B ¢ 55
A, V,, W9, d, L0 Vs, W e, AREA Ve, WE; f, ASHARV, 89, g,
A Vo Bk, WY Sy, B 4, AR Ve, B 2, T =6r, 1LH; S,
735 271, AT l=67’1, a4, Sg, 35 27’2, a7 12 67’2 U A S4 A 27’3,

‘7l:; 13=67’3°]:J—’_, '—g_z—_l V= V1+ V2+ V3+ V4+ V5+ V6+ V7+ Vg+ Vg+ Sl+ Sz"‘ Sg+ S4

—2.090, 843, 838 g;g Holth, BA a—c+d=b—2=d+6=e—8, f=b+2=1—12,
a=g+2=1—10, h=e+d=1l—6, i=h+2=h—22, REHFD,
Vi=a"=(I-16)7, V,=8'=(—-14)°, Vo=cP=(1-20)%,
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Vi=d'=(—22)", Vi=e=(1-8)% V,=/,=(1-12)°,

Vi=g'=(I—18)%, Vo= i3=(I—4)3, S, =1=(I—2)%, Vy= (zr)3=—9—(—1)3=1—3
7 8 1 9 ].6 3 48’
o (=6° «__2_B _ 50 »_ 50 .
Sz—m’f—ﬂX(M_) 5 , Sy=arh= . = o8 =g (1T 2%,
12
Sy= 7rr§=f’; = 88 == (1+20)%, L.CM.(628; 88; 12; 48) =248,688,

. 248,688 V= -L:313 0%38930 180 948,688 =1,313,049, 930, 780 % 396

=519, 967, 772,588, 880
= 248,688( Vi + Vot Vit Vit Vit Vet Vot Vot S+ Vot Sy+ S5+ Sy
= 248, 6884" + 248, 6885°+ 248, 688"+ 248, 6884" + 248, 688¢°
+ 248, 6887° + 248, 688" + 248, 68843+ 248, 68872+ 5, 1812+ 20, 724(I— 6)*
+19,800( 1+ 2)%+ 19, 782( I+ 20)
= 248,688(/—16)" + 248, 688(/— 14)° + 248, 688( /— 20)® + 248, 688( /— 22)”
+ 248, 688(1—8)° + 248, 688(/— 12)° + 248, 688(/— 18)* + 248, 688(/—4)*
+248,688(1—2)*+5, 1812+ 20, 724(I— 6)*+ 19, 800( [+ 2)*+ 19, 782( [+ 20)?°] =t}
oJAL /o thE BRI Z HES,
F(1)=248,688/" — 39,541, 392/ + 2, 833,799, 760/2 — 120, 519, 924, 624
+3, 368,009, 188, 368/ — 64,618,746, 481, 872/ + 862, 021, 682, 832, 816 /*
—7,896, 038,873,652, 4352+ 47,539, 810, 349, 170, 2422
— 169,943, 213, 515, 343, 3287+ 273, 523, 350, 849, 321, 600 = 0;
27-3%.5%.(3,165,779,523, 719) = 273,523, 350, 849, 321, 600; F(24)=0,
[=24, a=1—16=8, b=1—-14=10, c=1-20=4, d=1—-22=2, e=[—-8=16,
f=1—-12=12, g=1—18=6, h=1—-4=20, i=[-2=22, h=1-6=18, L=1[+2
=26, l=1+20=44

4. FrRI Hfh LR bR FES BBE

4-1 HIEJ)ifhREE
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2 B

WA EC . & FrRe] H B

(33) E— T REVT W REEFERITEL LM (EE p. 130, HH p. 448)
FH OVRUR, 8RR, BRI MR IASERE- LA A, iR

= TR =R LE
* N [=aX2r=nx100=3%100=300R(x=3)

#E [=rx2r=r2x100= 15507 x 100 = 314R (7= 157)

W [=mx2r=1x100= 2> X100 = 314.2857 LR (x= 2 );

0.71X7=4.97=5, .- %ﬁz
314159

Wik I=mx2r=mx 100 =-550-188 X100 =314.159 R (7= -tk

(34) Ji— [T REIRIAE 1 RETR 4 2607 (35 p. 131; TR p. 449)
BE R TR, HR— Y — R 4
WEAL7S] Wo)BE 100 x=5:7, .. x= 750 =140 H(LE), NEL 2x5=x

.
. x=17.0710678 =7.0712 418 AzaAE Zgo|r},
2071 _ 147 42 7

- 100: x=5:7.0711 4 x=100% —¢— 5

(35) I, fffaﬁrﬁi— 7 R R R R A S (] (R p. 132 SEAE p. 449)
B WA FHRA b%RZﬁ FRNAFASRAST - BEsEZ S

+ W7ZH60] MolmE 100 : x=7: 6 x=100><—‘75~=85.71428524, 0.714285% 7=

4.999995 =5, .- %—a(m_%), 24 2=7"—3.52=36.75, x=60621778=6.062172 B2}

2 100: x=7:6.06217, x=100><—@—7‘im=86.602428, 0.428X7=2.99 =3,

H

1

fu

!
.3
T

5. Kia
5-1. SCERM &S B
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LTS

ik HEH
BEEY w®EBETR — BEERFR | SHETEH H .
e REH = * BER) e xim)
169, 170, 574, 574, 616, 427448, |108, 130,
51, 72, 304, 310,
ik 172,174, | 618, 627, 629, |, - 449, 449, |131, 132, | 354, 365
200 483, 485 439, 439 122, 123
169, 170 616, 574, 574, 95, 269
Wi 172’ 174’ 618, 629, 632, 448 130 27:’2 133,
T o 635, 644, 487, o v
483 ’
169, 170, 573, 574, 616, 9%, 134,
, 304, 310,
w172, 174, 618, 632, 635, 448 130 269, 271,
200 644, 486, 484 354
448, 449, |130, 131
I i ﬁ; 228 b ’ y y
VG (BrR) 449 132
5-2. RBEHE
g " % 3} o
A = =%, S=n r=23
P y —-Ll(-3.14)
Z o},
yl o] 1=3 " 7t——( 3.1428571)
" ) _ _ 314,159
/\:1 o T 3.14159( 100’000 )
_ 3 7 9 _
2
2 , 2 _ 1, 24.689 _
. S o= X oeyy =4.9298
N 2 1 484
el JR=) " _n._. [—
eI 5 5 X A2 49 =4.9387755
3 pERE: V=—§—7rr —%—nz 12356 — 4.186666
Aol BN wE whsh o] duHoz WS F= Bol HA Ao WA AHL Ta
o onaA Al e Wde 231 U @AY e A2 QAL Fn 29 Ho|A
#F(ine element)E T3l U}l Ao A WL @y Eo] AF 23 Y= Gkl v
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A EIC . & # RS W R rIAE

sl ta & gl 28 ¢ F U AS/AA AN LEL AL L WKL WERE 1=

30 010 mgog, oW WEEmA WEEES LS 23 NUFA AR QoS @ 4

hﬁﬁﬁﬁif] )X #EES (BRI 2 R T 218 Tk BB RS 1R
KGR MR EHETERER DL 4578 AMEE AFd

u¥..
r~{u

d

WBBIF BE R EHAR
NER

RPN P
2481133 Colloquium, &8 HF =K 17,00, HERG T KR H%EM Seminar-Room
Wk “ERBE YRS Tk, BFEEALEIE|X| A 12E Al 2 3(1999), 63-68

v “EgERe BR,) BrEestAEr|X] A 13 A Al 1 5(2000), 27-32

v “HIEFT MG MR TR B2 eSALEEIR| Al 138 Al 2 3.(2000), 23-32

NQ’U‘PW!\J?‘
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